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1. Making coffee == 1 ¢H

#include <stdio.h>

int main()

{

int coffee: ——HIE| S8 ME B

printf("0H 7T E2tQ> (L&, 24, 3:5%) "),
scanf_s("%d", &coffee): T == ol

printf("\n# 1. EHZ
printf("# 2. SO0/ S

switch (coffee)

{
case 1: printf("# 3. E&7{L|E EICH\n"); break; o ohy= &
case 2 : printf("# 3. 2Y7L|E EtCA\n"); break; ST

case 3 : printf("# 3. AL E EtCH\n"); break:
default : printf("# 3. OFF AL} EtCH\n"); break;
}

printf("# 4. 2= X=Chn");
printf("# 5. AZ 02 HO{M SolChn\n");

printf("&E~ FI| 67| ASLICEAn\n");
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2. Making coffee Z2 13 (E=32})

#include <stdio.h> int main()
{
int coffee_machine(int button) ——— A K| B 2 int coffee; ——— H{Z~ AMof
{ int ret;
printf("\n# L(AIS2E) EHR 22 TH|SHCH\n");
printf("# 2. (AFS22) FO|HS FH|BChn"Y; print (-0l A& EUM2 (1128, 248, 3
==H) ");
SWITCh (bu’f"’on) L H_I §0_" EEI‘% OI_I_LH_E_ ga SCth_S(“%d", &COffee): - 9" EI _7|C__E_
{
case 1: printf("# 3. (AF&22) EEHI|E EtCHn"); break; ret = coffee_machine(coffee), s+ 5=
case 2 : printf("# 3. (AFE22) Y7L E EtCH\n"); break; B
case 3 : printf("# 3. (AtE22) S AL E EtCN\n"); break; printf("& g~ AL 7| AZLICE\n\n");
default : printf("# 3. (At 2 2) OtF AL} EtCH\n"); break; }
}

pr‘m'l’f("# 4. (N‘%QE) %% —%Etl.\nu)
printf("# 5. (RS2 2) AZ 02 HO{A =QIChn\n");

return O; —— M elg=r=2 SofzZict
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2. Making co




3. Making coffee =2 1%H - 2k% (1)

#include <stdio.h>

int coffee_machine(int button) —— A= Rputy| s 23
{
printf("\n# 1(AIS2E) EAH R 22 TH|SHCH\n");
printf("# 2. (At 2 2) TO|HS TH[THCH\n");
switch (button) ——— HEo U= ol 2 =
{

case 1: printf("# 3. (RIS 2 E) E&7HL|E ECH\n"); break;
case 2 : printf("# 3. (AFE22) M7 E EtCH\n"); break;
case 3 : printf("# 3. (At 2 2) 227 L|E EtCH\n"); break;
default : printf("# 3. (At 2 2) OtF AL} EFCH\n"); break;
}

pr‘ln'l'f("# 4, (xl'%gi) %% ;‘?‘\—Etl.\nu)
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return O; - 553




3. Making coffee L= 1ZH - ZHEF (2)

int main()

{
int coffee;
int ret;

printf("AH, O{™ HIO EE7R? (LES, 228%, 3:53) "),
scanf_s("%d", &coffee);

ret = coffee_machine(coffee);

printf("A'd I 0{7] A= LICH \n\n");

printf("BE, O{ I E2NtR? (LEE, 224, 3:22)");

scanf_s("%d", &coffee); —— =Do ] HES =2r}
ret = coffee_machine(coffee);

printf("BE I 0{7| A= LICH. \n\n");

printf("CH, O™ HI| EENR? (LES, 2285, 3:=23)");
scanf_s("%d", &coffee);

ret = coffee_machine(coffee);

printf("C'e ZHI| 07 ASL|CH \n\n");
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3. Making coffee (2}%}) Al ZA 1}
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#include <stdio.h>

int plus(int v1, int v2)
{

int result;
result = vl + v2;
return result;

}

int main()

{
int hap;

hap = plus(100, 200);

printf("1001t 2002| plus() &4~ 2
}

—— plus() &=

[~ X=1
==
2

——— O} 7l B{=2|
resultétS

——— o7 = JHE X ™A plus()
HhEtZt2 hapoll M &
At %d\n", hap);
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#include <stdio.h>

int calc(int v1, int v2, int op) ——— 37l 2] olUlf o= 2
{

int result;

switch (0p) - ofj7ei<ol| mha) oF AR} 2

{

case 1: result = vl +v2; break;
case 2 : result = vl - v2; break;
case 3: result = vl * v2; break;
case 4: result = vl/ v2; break;

}

return result; ——— Al&F 20 2EEE

int main()

{
int res; ——— B Mo
int oper,a,b;
printf("AlLt R (1i+, 2:-, 3%, 4:/) 1 "),
scanf_s("%d", &oper), o Apx) ol
printf("Altte & =X YH "),
scanf_s("%d %d", &a, &b); ——— m| o4 AR} 2l
res = calc(a, b, oper) ; ——— HAD| B 5
printf("Al & A1t= 1 %d\n", res);

}
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6. X 240 T B

#include <stdio.h>

int a=100; ——— Mo ad o

void funcl()

{
int a=200; —— K| A= g Moo
printf ("funcl()0l A a2l Zt==> %d\n", a); — (-1 PN -

}

int main()

{
funcl(); 35X
printf ("main() OIA a2l 2f==> %d\n", a); ——— M4 =g

}




}

func1 O A a2 4f
ain¢> 0A a2l gt




#include <stdio.h>

void funcl() ——— void¥ &= Mo
{
printf("void & &= SHEA g2.\n");
}
;m‘ func2() ——— int8 &4 Ao
return 100;
}
int main() — void¥ &+ & &
{
int a;
funcl();
a = func2(); — intd g+ S&

printf("int & 0| ST 2t ==> %d\n", a);

}







#include <stdio.h>

void funcl(int a)

{

a=a+l; M7 2 1= =
-— aE 138371071 &4

printf("M 2R q ==> %d\n", a); U

}

void main()

{
int a=10; — B Mo
funcl(a): —aE HSFTE B S &
pr‘ian("funcl() AEI% _'é':p_l a==> o/od\n", Cl), ——— Bl 55 Z g gt &Y

}
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#include <stdio.h>

void funcl(int *a) —— FiHTE FLE W
{
*a - *a + 1. _
P o 1t —— a7t 7t2|7|= Re| AHgH+1 2 T8
} pr'm‘rf( Elzel-tllzl'% a ==> %d\n , *Cl),' —— a7} 7|_E_|9|E 3o %I'llﬁ;'ic' EXL|
void main()
{
int a=10; —— aE 1022 7|3}
funcl(&a); — & S E Al a| FLE MY
printf("funcl() 2 2| a==> %d\n", a); o E 55 E a7 &

}
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10. Of7f - ME 28 "l

#include <stdio.h> vo:d main()
{
void funcl (char a, char b) charx="A",y="Z"; ol e
{ —— oj7Ei%} 2ol B —— 5 ZAr &S
int imsi; printf(" &l 2t s x=%c, y=%c\n", X, y):
= oxl= 1 —— gt= HESI] func1 ()& & &
—— 5 EXIE W&
imsi = a; v o funcl(x, y):
a=b; printf("&4S TES = : x=%c, y=%c\n", x, y);
2= Tl — &8 M50 func2) B4 55
} func2(&x, &y); T =
printf("T2F HET 2 x=%c, y="%c\n", X, y):
void func2 (char *a, char *b) }
{ ——— o7 ==} F=4-01 B
int imsi;
imsi = *a; ——_ = ZXIE g3l
*a = *b;
*b = imsi;
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« ZH 2 HZ CHN Express, &9l =, =S = THAL
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